





Module 6.1 – Answer to Exercise 5 








1.	Which type of test question would you select to assess the achievement of the following objectives:





(a)	Given descriptions of working situations which involve safety precau-tions, identify correctly all situations where safety precautions are not fully respected.





	Type of question:  objective questions (i.e., true-false, multiple choice)








(b)	Given an audible Morse coded signal composing a message of at least 100 signs, decode it with no more than 10 faults in less than 5 minutes.





	Type of question:  real performance in simulated conditions








(c)	Unassisted, indicate at least 3 advantages of Pulse Code Modulated ({PCM) transmission compared to Single Side Band (SSB) transmission.





	Type of question:  short answer or multiple choice (which would be more reliable








(d)	Given tools, equipment, material required and relevant handbooks, install a telephone apparatus in brick wall houses according to standards outlined in the relevant Engineering Instructions.





	Type of question:  real performance in simulated conditions








2.	State for the following series of training objectives, whether the corresponding test questions are valid, and if not, what is wrong with them.





(a)	Objective:  Using a slide rule, able to multiply 2 decimal numbers with an accuracy of 1% or better.





	Question:  Use your slide rule to calculate 23.4 x 2.92, and indicate your answer below with 1% accuracy:


�


				YES / NO, REASON:








(b)	Objective:  Unassisted, able to measure an earth connection according to the prescribed procedures using a Megger.











	Question:  State the 7 steps to be followed when measuring an earth connection correctly according to the prescribed procedure.


�


				YES / NO, REASON:  because the behaviour required by the test question is different from the one described in the objective.








(c)	Objective:  Using an echo meter, and in normal working conditions, able to localize a cable fault on a per-insulated cable with an error not greater than 1% of the cable length.  Equipment should be handled with care as prescribed in engineering instructions and all safety regulations should be respected.





	Question:  You have at your disposal an echo-meter and a circuit simulating a faulty paper-insulated cable.  Please localize the fault with 1% accuracy.


�


				YES / NO, REASON:  because the conditions of the test are different from those described in the objective.








Types of Tests and Test Questions





�PAGE  �








�PAGE  �2�


TY9DC4~5.doc











